Integer Problem:

Maximize z = 6x1 + Txo
subject to

6$1 +8SC2 S 16
(z1,79) > 0 in Z2



Canonical Form:

Maximize z = 6x1 + Txo
subject to

6$1+8SE2+U1 = 16
(11, 22,u1) >0 in Z3



U1

T i) uy
6 8 1 16
-6 -7 0 0




U1

T i) uy
6 8 1 16
-6 -7 0 0




U1

T i) uy
6 8 1 16
-6 -7 0 0




T i) uy
1 4/3 1/6 8/3
-6 -7 0 0




T

T T uy
1 4/3 1/6 8/3
0 1 1 16




Z1 T2 U1

1 1 4/3 e 8/3

0 1 1 16

v+ 3+ tur =38 (z,u)>0inZ?

Mixed integer cutting plane: fxs + gu; > 2



T

U2

Ko

T2 Uy U9
1 43  1/6 0 8/3
0 -1/3  -1/6 1 -2/3
0 1 1 0 16




T

U2

Ko

T2 Uy U9
1 43  1/6 0 8/3
0 -1/3  -1/6 1 -2/3
0 1 1 0 16




T

U2

Ko

T2 Uy U9
1 43  1/6 0 8/3
0 -1/3)  -1/6 1 -2/3
0 1 1 0 16




T

T2 Uy U9
1 4/3 16 0 8/3
0 1 12 -3 2
0 1 1 0 16




T

T2

Ko

L2 U1 Ug
1 0 -2 4 0
0 1 1/2 -3 2
0 0 12 3 | 14




T

€2

Z1 T2 U1 U2

1 0 -1/2 4 0
0 1 12 -3 2
0 0 12 3 14

Optimal solution: (z1,z2) = (0,2)




